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FIT(E: 4 IRl
1 RPN A TH1F AR RAET 11 FhE 49
2 EEPIXAERPR A T H 1 B HREE 12 S HE 76 7
3 ARFXARFR A T H 1 A B HEE 13 S HE 80 /7
4 AERFXBEILEE 3 T H 11 & BILFEE 1 5l 50
5 ARFXARFR T TH 1% AR AT 3 S AE 35 77

HiZ 2 (5 6 ZkBIFR)

X5y AN H %8 WIEEE A HESE
1 104,000 MHLLF 18,000 1
2 104, 000 M 123,000 MLLF 21,000 H
3 123,000 FJ#E 139,000 FHLLF 24,000
4 139, 000 FJ#E 158,000 FJLLF 27,000
5 158,000 [ 186,000 FJLLF 31,000
6 186, 000 M 214,000 MLLF 36, 000 4
7 214,000 [#8 259,000 MLLF 42,000 H
8 259, 000 A 48,000




